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Date: 4/1/2025 Quiz 10

Formulas you may need: Hp=il, Gy Yx Hy=p o, = Pq
‘ Jn n

1. (2 points) State the central limit theorem (for X ).
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2. (4 points) 8.3% of all people have asthma. In a group of 300 people, what is the probability that between 10%
and 12% of them will have asthma?

X = 7—/7\& ‘jl £ 5 o ng dan Swt/ ﬁ\ = 77{/{ /p??ﬁ% ,"/') o Fon 0/5/7"/9 ﬁ:/x[*’g/
/) Y 77 5 o ‘}/KE/ & ﬁ?ﬂj

hevt.  w5thma. Condi¥n npy 2/l0 !
Dist! dpknown (3c0) (0.083)(0.917) = 30833 3 2/ew
- . "
p=0.083 @Lj Wovmal “@/ CLT bees nps 210 )
¢ =20.917 /6(/3‘ :/:0,083
: . = 7
9_)9 =[P _ [(0.083)(0.9/7)
g 300
o A BT it} A -
1 r 0 ) ¢ T /) 7 Y V1 R —AS 91— A
Plowepeorz) = [ L« PHY . o
o Fo T
M T ey T B L o e |
/)( WD [0.—08,%)(4')/‘];7) 'ﬁ/l:07 < Z2< 0?,397)
200 _““:—o—d\w
Vv ¥ =3

= N2¢232) —Plzclv7) = 0,98 ~0.8577 20,13 /


10

Date: 4/1/2025


in with a standard

n the world spend on the internet per day is 402 m
d an average

3. (4 points) The average time all people i
domly selected, what is the probability that they spen:

deviation of 53 min. If 145 people are ran
time of more than 395 minutes on the internet in a day?
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